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SPECIMEN QUESTION PAPER
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The marks intended for qestions are given in brackets [ ].

SECTION —A (20 Marks)

1. Read the passage given below and choose the correct answer that
given in the following questions and vthe write one.

Answer in Assamese the questions that follow, using your own words as fat as possible:-
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Choose the correct answer that given in the following questions and vthe write one.
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SECTION — B (20 Marks)
Answer questions from the two books you have studied.
At 5% o ewiz
ASOMIYA SUTI GALPAR PRABAH

Read the question given from the story and choose the correct answer that

given in the following questions and v/ the write one:- [10 X 1=10]
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Read the question given from the novel and choose the correct answer that
given in the following questions and v/'the write one:-
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KABITA MONJORI [10 x 1=10]

Read the question given from the Poetry book KOBITA MONJORI and choose the correct
answer that given in the following questions and v the write one:-
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Read the question given from the Drama and choose the correct answer that

given in the following questions and v the write one:-
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